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EAAH

Instructions to Contestants:

1. XEEHE Ad#@ i alEEAJEGE -
Each contestant should have ONE Question-Answer Book which CANNOT be taken away.
2. AKEH5[E#HE  SHES6E - H30E §FESD - B0 15070 SEAD -
There are 5 exam areas and 6 questions in each exam area. There are a total of 30 questions in this

Question-Answer Book. Each carries 5 marks. Total score is 150 marks. No points are deducted for
incorrect answers.

3. BREXRSE EEH L -
All answers should be written on ANSWER SHEET.

4. EEHE  ABEHEELE -
NO calculators can be used during the contest.

5. XERFRAEBEA—TEMKEAIER -
All figures in the paper are not necessarily drawn to scale.
6. CEETENR  Aa@EgwU(o -
This Question-Answer Book will be collected at the end of the contest.

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BEERETE EBA -
All answers should be written on the ANSWER SHEET.

e RE AT HZE -
THIS Question-Answer Book CANNOT BE TAKEN AWAY.
AEEZEERE  UZ7EREE  SRIZEERAJBERBUEERS -
DO NOT turn over this Question-Answer Book without approval of the examiner.
Otherwise, contestant may be DISQUALIFIED.

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BRHEERRTE EEH L -
All answers should be written on the ANSWER SHEET.

IHZERE (512 30%8 ) (BB BHEAEBEAHD)
Open-Ended Questions (1%t ~30™) (5 points for correct answer, no penalty point for wrong answer)

Logical Thinking
Zug DA

1. According to the pattern shown below, what is value of 25" number?
BLUNRE - K55 25 (BT -
1 -~3+-6 10 ~ 15 ~ 21
2. Inthe puzzle below, each of the empty grid should be filled up with a number from 1 to 9. The number in

each grid is different. If the numbers are filled in so every equation is correct, find the number
represented by A.

K129 (HMFAATEERR ) BRZERA - ETRETHEIELLE - SKARE -
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3. It takes 2 minutes for a train of 120m long to pass through a bridge of 2760m long completely. What is
the speed of the train in meter/seconds (m/s)?

—HIE K 120 )RKAVKER -« ST BB —FE 2760 SREAABHEE 2 0iE - PRSI KENREZEZ D
RER ?

4. Inan arithmetic sequence, its 50" term is 664 and its common difference is 13. If there are 99 terms in the
sequence, find the average.

A 1EFZEE5 - 5550 JRZ 664 NEEE 13 - A28 SA 9918 - SKEI9E -

5. Mother has a ribbon which is 30 meters long. She cuts the ribbon into threads with length of % m each.

How many thread(s) could be cut this Way’>

IBIB A —1F 30 RERMMT - K3 3r’ YR —/NE o BB BB 7

6. 10 children queue in the single line. The distance between any two adjacent children is the same and the
distance between the first child and the last child is 90 meters. Alice is the 3" and Betty is the 9™ child in

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



Aa T

SERBE 8 Lo

All answers should be written on the ANSWER SHEET.

10.

11.

12.

13.

14.

15.

16.

the queue, what is the distance between them in meters?
£ 10 {B/NAF R (ETEHEEX - MImAY/NBRAAREE 90 SRS M E/NAR A REEREAEE ; IRE/ )BT

H3M - NERIBFESS 9 i1 - BREE MY A MHEEZS 0K 7

Arithmetic

& iy

Find the value of 1013x987 +169 .
5K1013%x987 +169 AI1E -

Find the value of 4+8+12+16+20+24+28+32+36+40+44+48+52+56.
SKA4+8+12+16+20+24+28+32+36+40+44+48+52+56 K18 °

Find the value of 128+25+1024x625x32.
5K128+25+1024x625%x 32 HI1E -

Find the value of 2+4+6+8-10+12+14+16+18—20+...4+96+98—-100.
K2+4+6+8-10+12+14+16+18—20+...+96+98—100 F1& -

Find the value of 9772 +454? —5x23?.
SK977% +454% —5x 23° 191& -

Find the value of 2015x726—2016x725.
5K 2015x 726 —2016x 725 HY1&E -

Number Theory
21 :m

Define a®b =(1x2x3x...xa)+[1x2x3x...x(a—b)]. Find the value of 10®4.
Z‘E%a@b=(1><2><3><...><a)+[1><2><3><...><(a—b)]  SK10@4H91E -

Find the unit digit of 4" +5% +6% +7% +8% +9°.
K 4° +5% +6%° + 7% +8% + 9" A& -

Find the remainder of 1234512345...12345+-15.

2015

5K 1234512345...12345+15 FIERE] -

2015

The sum of 8 consecutive even numbers is 376. Find the value of the smallest even number.

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,

decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BRHEERRTE EEH L -
All answers should be written on the ANSWER SHEET.

17.

18.

19.

20.

21.

8 EEEBE 2 M2 376 - K/ HBERE -

The sum of 2 numbers is 240. The bigger one is 15 times as the smaller one. Find the value of the bigger
one.

2 [BE 2 AZ 240 - T ARBLZ/NER) 15 15 - SKAHAE -
Find the largest 4-digit number which is divisible by 24.
SKE AR BT UK 24 PR -

Geometry
21

Refer to the figure below, the length of the edge of each smaller cube is 2. Find the volume of the 3-D
figure.

SEMNE - BRELESENEREE 2 - KRS

E:

Question 19
%19 &

If a polyhedron (a solid which all its faces are polygons) has 15 edges and 7 faces, find the number of
vertices

—EfSEZmEES 15 RN 7 BE - SKerIIRFEHE -

The figure below is formed by 2 identical rectangles. If the length and width of each rectangle are 11 and
5 respectively, find the area of the figure

SEMNE - B2 BEFRSEAERN - ERAFENRMEDBIZ 11 715 - KM ERIES -

Question 21
$21&

FUBRBIENERER  BfEERENE - FRAKENHATHY - ARAEERBMNE - EREBEURSALTETOE -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,

decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BEERETE EBA -
All answers should be written on the ANSWER SHEET.

22. Alarge rectangle is formed by combining a smaller rectangle with dimensions 12cmx7cm and 3
smaller rectangles with dimensions 4cmx7cm. Find the shortest possible perimeter of the larger
rectangle.

1E&12EX - B7EANESEEIERT7ER - B4ERSHN1LBERESE - BZzZA&RS
EHERERZEZVEK?

23. 6 equilateral triangles are formed by cutting a regular hexagon. If the perimeter of the hexagon is 96cm,
find the sum of the perimeter of those 6 triangles formed in cm.

—EIESNEBIEH DAL 6 BFE =S  "BIENERE 9% BX - BB =—sENBAREEZVE
K2

24. At most how many line(s) can be formed by using 15 points on a plane?
IV E EE 15 3 2 0ERZDRE ?
Combinatorics
HEEE

25. If the weight of 8 apples and 7 oranges is 4180 grams and the weight of 2 apples equals to that of 3
oranges. What is the total weight of 1 apple and 1 orange in grams?

DN 8 [EFERAN 7 B HE 4180 58 - M 2 EHERNESH 3 ERFNEEHRSF - K 1 EZERH 1 E
RHEZ V5w ?
26. Find the largest 3-digit number which has only 3 positive factors.

R_UERS 3 ELERE - KZHEAE -

27. In Class 4A, students share some chocolates. 20 pieces of chocolate remained if each student eats 5
pieces, and lacks 12 pieces of chocolate if each student has 7 pieces. How many piece(s) of chocolates is /

are there?
AAPVIRIBIEFENZ AT  Z8AIZ5E - E6R 20318  ZE8AIZ 7 - EX 12318 - BHEBEERE S
2/ 7

28. Use0, 2, 4, 6 and 8 to form a 2-digit number and a 3-digit number. Find the largest product of these two
numbers.

70246 870%—fE2 UBM—E 33U  KEMBEHNWEZEAE

29. How many different proper fractions in its simplest form can be formed by using numbers 1 to 10?
A1z10 HEHT - JUARZSMEARNE-FEDE?

30. Itis known that tael and catty are units of weight and half of a catty equals to 8 taels. If we distribute 15
catties of peanuts into 4 piles of equal weights, how heavy is each pile in taels?

HTHEER 8 « B 15 TIEEFHE DM 4 S - BOHIEEEZ DM ?

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BRHEERRTE EEH L -
All answers should be written on the ANSWER SHEET.

Y

~ End of Paper ~

FUBRBIENERER  BfEERENE - FRAKENHATHY - ARAEERBMNE - EREBEURSALTETOE -

Write down the answer in the simplest form. If the calculatlon result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



